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Find the limit of the sequence whose nth term is
expressed by the following formula.
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Find the range of x values such that the following sequence converges.
Also, find the limit value at that time.
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Find the limit value of the following sequence { an }
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Find the limit of the sequence whose nth term is
expressed by the following formula. LN L AL
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Find the range of x values such that the following sequence converges.
Also, find the limit value at that time. an+/+4 — i(an +4) a/+4 =5
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Find the range of x values such that the following sequence converges. =0
Also, find the limit value at that time.
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Find the limit value.
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Find the limit value.
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Find the limit value.
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Find the limit value. ]




